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Paper I
PEELIECAN |

Time Allowed : 60 Minutes] [Maximum Marks : 100

Note : This Paper contains Fifty (50) multiple choice questions, each question
carrying Two (2) marks. Attempt All questions.

AT : A1 TRAIehd U (50) Fgfae W feeiel oRE ude URAe | (2) U SR

| Ty Gred

If taught on memory level of teaching,
the students get tremendous power
for acquisition of .................. .

(2) factual information

(i1) generalized insight

(zit) problem solving abilities

(A) Only (i)

(B) Only @)

(C) (@) and (@1)

(D) @) and (ii7)

The teacher should choose teaching
method considering ................. .

(2) Nature of the learners

(z1)) Nature of the objectives to be
realized

(zii) The teacher’s own ability and
proficiency

(A) Only (@)

(B) () and ()

(C) @), (i) and (i)
(D) Only (@7)

ST A=A '{Jﬂ?ﬁ (memory) TRIEY
HEEREGINRE BIEZIE]
gureTaer foaereror et fhose.

(i) aTEdAfoeR AEd

(i) HHEIH gl
(i1i) FF= ARt afe
(A) Hds (if)

(B) %aa (i)

(C) (@) @ (i7)

(D) (@) = (iii)

() IR WEY

(i) 9T HUEAr= 3fEwm ey
(ii1) TI87RT=a T =01 &7l AT Fqorer
(A) e (i)

(B) (@) mfor (if)

(C) @), (i) = (iii)

(D) =des (ii)

[P.T.O.



What is the main characteristic of
gifted students ?

(A) They are introvert in nature

(B) They are dependent of their

peers
(C) They are extrovert in nature

(D) They are independent in their

judgement

For adult learners, instruction needs

to focus ....cceevnneenn.. .

(A) equally on the process and the
content to be taught

(B) less on the process and more on
the content to be taught

(C) more on the process and less on
the content to be taught

(D) equally on the process and the

product of learning

.......................... evaluation gives a
clear idea about understanding of
the student regarding particular

content.

(A) Placement
(B) Formative
(C) Summative

(D) Diagnostic
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yfauea faeneats qea afiteg &m
A ?

(A) 7 SIaHE EEI SHA

(B) T T=A1 FETEATIER Taeiad STHAM

(C) d EE ST

(D) q = fFAuEmsy Wad 9

TIe SAITHEIS, T
W U] TS ST

(A) Yt anfor feTemaoar=n A9 IR
TR

(B) gfeaar =1 enfor fyreravarsan
ST ST

(C) yfrdear S enfor TeTeRauamen
ARMEET FHH

D) gfear aufor steggam=n afiurs
(Product) IeX HL@ETH

faeneat=n fafymse SR SAThRa-

qqu‘q’\l H‘lbd qr)(rqul ................. Wl—qq

(A) TR
(B) AR
(C) HrhTii=n
(D) “&TR




.................... is the characteristic of

qualitative research.
(A) Emphasis on numerical data
(B) Focus on statistical analysis

(C) In-depth exploration of meanings

and experiences

(D) Strict adherence to experimental

designs

................ is a limitation of positivism

in research.

(A) It ignores the importance of

empirical evidence

(B) It tends to oversimplify complex

social phenomenon

(C) It places too much emphasis on

subjective interpretations

(D) It encourages bias and personal

opinions in research
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.................. % J\LU“(—H* E.'Q-ha..“-a é\ﬁ

(A) TEIHF Weder (SIER) W

(B) TS fagammmer aey

(C) gt onfl syE= W@ 3ied

(D) 9T Ugd=a ANESdd Uk

faehed TR

B TehIIcHS: TINHATE] Haie]

(A) STIIES A AT e A
ETul

(B) aAfqsieet HHTSTR Se-ell ST G

fa fo
U] Ud]

(C) =AfFEE TedfTe=m HToaER S
T T

(D) TRUATHE TeIIIgoT 3707 S feren
T T UieEEd <0

[P.T.O.



10.

................... is referred as “citation” in

the academic writing.

A reference to the author’s

personal experiences

(B) A way of giving proper credit

to the original source of

information

(C) A fictional element added to

enhance the narrative

(D) A personal opinion included

without supporting evidence

............... type of research misconduct
involves making up or falsifying
data.

(A) Plagiarism
(B) Fabrication
(C) Misinterpretation
(D) Biased sampling

...................... ICT tool is essential
for creating and managing biblio-

graphies in research papers.
(A) Statistical software
(B) Reference management software

(C) Spreadsheet software

(D) Project management software

10.
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....................

O IR G IR ECRIE L]

"I 38 =UEE.

(A) Tremr= SEfdas ST T

~

(B) Hrecir=a Hos Uil 3 Tl SRol-ay]
(shfee) <uamn wm

(C) Y defaua™e Sieadl Th
HIeqeh AW

(D) Y qUeniiEr gHifas Shelel

Tgfage w1

AT 221 TIR h{0] e el 221 a9K

HLO I 38,

(A) wfefers =wl/arema 9

(B) &

(C) &= steifre=m

(D) 9t A e

I EHTHE TR TR e, ST

...................

o= SO ST

1L IS
(A) Gifegs! Gieeasr
(B) g =Howee Hiwds

(C) Ereyie ArRasr

(D) WeheU AR HITd3T




Directions :

Answer question Nos. 11 to 15
based on either English passage

or Marathi passage :

It should be remembered that the
Nationalist Movement in India, like
all nationalist movements, was
essentially a bourgeois movement. It
represented the natural historical
stage of development, and to consider
it or to criticize it as a working class
movement is wrong. Gandhi
represented that movement, and the
Indian masses in relation to that
movement to a supreme degree, and
he became the voice of Indian people
to that extent. The main
contribution of Gandhi to India and
the Indian masses has been through
the powerful movements that he
launched through the National
Congress. Through nation-wide
action, he sought to mould the
millions and largely succeeded in

doing so. He changed them from a
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L3 A2 LI

U9T Wi 11 9 15 § Ue faotemn
TS| ATl U=t 3ad 2l ¢

aTo ToRATSTel TSIy HRRISE wSe]
&l fovaehiel, Wegehiyl, YO T
TR TSMIE! ITHATAT SHAN daedl

A, Iehe THMST JUaSt YT,

qifecd, @&pdl A=l Fedes e
Tfeett. o fafay 9@ 2@ Tled, d
UehTeh! Tedsiiel fepen Touvedl Ufeel.

IS TEHRIo%s € AT e o

FUMTT Hifecd AeMeaH, fafay aifes

. L ‘e TN WL NN
TREEH!, Wi TG TGS v
T, &Y o™ faemae TsehR

Tl 2 AT IR TSR0l TEaTel

fohal TedTed] TSITel STeAel hivaTdTa!

o R it
THAT hld HIEEE IT=A0 oMYA

& Bd omfor fad=w efed. eATgen

[P.T.O.



demoralized, timid, and hopeless
mass, bullied and crushed by every
dominant interest and incapable of
resistance, to people with self-respect
and self-reliance, resisting tyranny,
and capable of united action and
sacrifice for a larger cause. Gandhi
made people think of political and
economic issues, and every village
and every bazaar hummed with
arguments and debates on the new
ideas and hopes that filled the
people.

In case of very exceptional person,
like Gandhi, the question of
personality becomes especially
important in order to understand
and appraise him. To us, he
represented the spirit and honour of
India, the yearning of her sorrowing
millions to be rid of their
innumerable burdens. An insult to
him by the British Government or
others was an insult to India and

her people.

APR - 00124/1—A

gifefcas T@adt wursad A1fon

oo

HAEA AF=ATge e dlfeicad a

qifeass 9= AUSIA  dresfawHqo]

HLOIT YITal i 6. ARSI
@ e TR ORI g g
MR AEEET FeHet T et
e S QRedTd. TR uderd )
SFSHY VIsgiad HNTIR S8R AT

3Med. WHR-SLER Tdd 8 T9e

TR YHINTh SIS UH  HIEl

GeRTIYT ShIEel TAR B o1 2 TR
TEFE, WY ASHI I AR
YTk G oh1 Toadld ? TeHUr TS
B 2R e favd 7 g foues
Fooac B, § AT Teh YR SRR

N ~

D& Ihd. TR Aeiel fRar FEUS &

{an Lo}

fiesd Tel, STHea TRam] ==iiel i

IME ifecd IROcYHM fagM, T

ST F&hdl Il Tehae HIOM TSIhR

ERTSA ATel, Il TEd =AEel gal.




11.

12.

13.

The given passage states that
Mahatma Gandhi largely succeeded

N e, ;

(A) fighting against the social

discrimination in India

(B) eradicating economic

inequalities in India
©)

moulding the millions in India

(D) giving political representation

to Indians
What do you understand by the
phrase “to be rid of” ?
(A) Released/freed from something
(B) Tied to something
(C) Increased something

(D) Included something

What did Mahatma Gandhi
represent ?

(A)
(B)

Poverty of India

Working class movement in
India

(C) The natural historical stage of

development of India

(D) The spirit and honour of India

11.

12.

13.
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TRIS 9Te, Aifecd & Tl a1 Hedae

Ed Ufgell S erehlel 1 dred ?

(A) SFHRIAT A1 & Wa:=e TEs

N oon

Hlledeh  enlHFIKI

~ 5
She AT

(B) W& WY, Wifecd o HEFdl Hail
Rt STHCATe

(C) ITEATAT M™M= Tevar=l g

SO TR TS

(D) TREAE ST

TfecT WeTiee, Tiecd Uue] I
IO IUfHd B 2

(A) TR feaday - qRdl I
qaesial Sre Hadi faumas aifteh
TSI hY0l

(B) TaaTed foar Tearedr gaTe
HHOHIEA8 U AR

(C) TR HREAFET TGUTO = =0y
(D) THRN Ugda SHOHTET 31eded

IREEY

TEldiel Hfefcas Tesdesit v
ETUR I I

(A) FUYRYT § HEATEA™  TETE]
IET a0

(B) Toredt fammrien anfefeaenn 318

|
(C) HfElcaeh Toeedl AT URrerel

(D) TSt Wil a aifs ==t
TTESIeh o

[P.T.O.



14.

15.

16.

The main contribution of Gandhi to

India has been ................. .
(A) strong arguments

(B) the powerful movements
(C) vociferous speeches

(D) intermittent fasts

What, do you think, is the correct

meaning of the term “bourgeois” ?

(A) Working class with utilitarian

values

(B) Agrarian class with moral

values

(C) Middle class with conventional,
conservative and materialistic

values

(D) Lower class with no fixed values

Which of the following messages is
less likely to be misunderstood or
misinterpreted due to cultural or
linguistic background of the receivers

of the message :

(A) message full of written words
(B)
©)

(D)

message full of spoken words
message full of body-gestures

message full of iconic signs

14.

15.

16.
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QLRI &0 S8 YTeaid AU SRTeg
o ?

(A) JhIITR

(B) FUTAN TURH
(C) Toaeifcera Hue®

(D) FAUA T

TEd V@A oieh HUS) Toeeias]

TefoTt HigaMT UHEAr S geoe aed

e ?

(A) =Kl 9 HEAH AT HHE
ZIUIE]

(B) wifecagderi=l fowrmol a feme
UREyieRTY faeEd

(C) vrae& 2@l A Whisdl fau9mE®
FeoelosIq IO T TR <l

(D) UehI9TF & HUESHAT HIE IS
T

TTEATEeh! FHIOTET FehIAT TSI

HehREEheT TR Fevar! a1 ST

TN 3TaNY @A IR HHI

I ?

(A) GQUiv0l Trel IE STHeie Hawl

(B) HYUYU diel (ITANRT) I STEeIeT
Bt

(C) IRIRe SEUERA gurdul dehrRere
B

(D) iU SThUfar (TERA) T
T 9ol

10
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17 In the Context of contemporary 17. 'HHOhIQ'IﬁI"I rsr\ﬂd@l Q-||b||ot|o|6|{|(| {9“@1’\'('1
digital paralance what are the r‘f‘@“'iw SIS HIHIER o e T
following symbols collectively called el Sd ?
as - =) —=( ;=) —x
(A) Emoji .

B) Emot &) i
moticons
(C) e
(C) Smiley e
D
(D) Stickers )
communication identify the incorrect faum == 3@ ?
statement : .
(A) O T IO TEE TR
(A) Silence 1is a means of ) _
communication (B) T3/ HSATUATA A A0 HSTT
(B) Non-verbal cues and messages RRERISICIRSIEESIEEIE
are easy to control (C) T3 GaToA & GEharamae At
(C) Non-verbal messages are Tl HogASNe ST
culture sensitive and relative . . o
_ (D) Tiges foher fgen wHfeda w9
(D) In case of confusion, people . N . :
tend to trust non-verbal SRAAIE 137 FTA
communication more than the SAUIAThE TAhT el STl
verbal 19. TOR YAl M R ?
19. What is Prasar Bharati ? .
A) SIS ST UM T et
(A) It is the national level news () TR °
channel under Door Darshan REl
(B) It is a news broadcasting (B) STERISTETUI= (TSRS I JER
service of All India Radio (AIR) e
(C) It is the asso.ciation. of private (C) HRATHE S T S SEe
broadcasters in India
D) Tt is India’s state owned Public (D) YT IR AT =] HIeSTeh
Broadcaster SRR Fel
11 [P.T.O.



20.

21.

22.

Which of the following elements is
facilitated much more in a
communicative situation wherein
teacher and students are sitting
together in a circular manner facing

each other ?

(A) effectiveness of the content of

teaching

(B) teacher’s power to control every

student
©)
(D)

discipline amongst the students

level of interactions between the

students

What is the arithmetic mean of the
integers from 1 to 51 ?

(A) 24
(B) 25
(C) 26
(D) 27

If 10" (m is positive integer) divides
the product of the integers from
101 to 151, then the maximum value

of m is :
(A) 12
(B) 13
© 1
(D) 10

APR - 00124/1—A

20. iegr foreqesn onfor faenef wendwwe e

21.

22.

& Tgeeldhdl Tad SweTel STHar, 379l
AT TEAEE @I Teriehl IO

HIHTA ATYSH FHONT IS Hosd 2

(A) Toresfavar=n e gY9rEigo

(B) v fommemter fAasor 3avam=h
forermT= eqHan
(C) Taeneatneie far

(D) faemeataeie AATHeRNT Tk

1 d 51 = Yoiieh HEAE T A
forett 2
(A) 24
(B) 25
(C) 26
(D) 27

ST 10" (m &9 Ul 3T6) A H&
101 & 151 =1 qUifsh &A= TORRM
PR 9 S W om = Hied[ Al
fpad fomet 2

(A) 12

(B) 13
C) 11
(D) 10
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23. Among the three numbers, | 23. fgai™a X = 188181811881, Y =
X =188181811881, Y = 881181811818 881181811818 & Z = 811881188118
and Z = 811881188118 which TEATIhT ShIvTe T 18 1 3 9m
numbers are divisible by 18 ? R
(A) X only (A) X e
(B) Y and Z only (B) Y & Z %K
(C) Z only (C) Z ™=
(D) X, Y and Z D X, YT Z

24. A person was working to transfer | 24. T =il X A1 fohoMa= Y a1 faskrof
bricks from a place X to a place Y, forel aTgA AvaT= S I 3Te. X 1
where the distance between X and Y o1 fommoimsie S 200 Hiew IR
e B et ff ot T S 15 o o . @
from the place X, after travelling 5.5 X 1 . L q
km while working, how many bricks HTATH o 5.5 TohHl. ST I Sherel SR
were shifted to the place Y by the Y =1 foskrofl fehcl faer dRMfae ?
person ? (A) 190
(A) 190 B) 195
(B) 195
(C) 210 (C) 210
(D) 215 (D) 215

25. There are 64 deer in a forest in the | 25 weR STHE el 9 64 B0 3Td.
present year. If x(n) denotes the W x(n) B &I & STAA Sl
number of deer in the forest in guidtar gfion=i gwygr evifad 9

3

year n and that x(n)= Ex(n_l) for x(n)= gx(”‘l)’ n=1,23, ..., 36,
n=1,2,3, ..., how many deer are ™ 51 Iuidiel & S giom=
there in 5th year in the forest ? e fedar ?
(A) 96 (A) 96
(B) 486 (B) 486
(C) 243 (C) 243
(D) 339 (D) 339

13 [P.T.O.



26.

27.

Which of the following conclusion/s
is/are valid based on the statements
given below ?

Statement I : Some tigers are

goats.

Statement II : All political leaders

are intelligent.

Conclusion 1 : Some goats are not
tigers.

Conclusion 2 : Some political

leaders are intelligent.
Code :

(A) 1 only

(B) 2 only

(C) 1 and 2 both

(D) Neither 1 nor 2

Some buses are standing facing the
bus stand. Thane bus was ahead of
Nasik bus, which was ahead of
Jalgaon bus. Amravati bus was
behind Dhule bus, but ahead of
Thane bus. Which is the second last
bus from behind ?

(A) Thane
(B) Jalgaon
(C) Nasik
(D) Amravati

26.

27.
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TEle faamr=aT SMeR qEreTieht o/

o ~

et S

q sTeqd ?
faam@ I : F© 99 T o= e

faems I1 : 99 TsA 90 fgAH
HAId.

fremdl 1 : FE I 99 AR

foremst 2 : S TS 39 9fEEE
SHdTd.

&E

(A) 1 &
(B) 2 &

(C) 1 afor 2 I
(D) 1 =7for 2 ARl T

FTEl 99 THLAER FHR diE e 393
3Med. ST & Teh s&= e 318
ST ATER= o9 STeamie a=1 ¢ 3T
ST o9 ¥os S=A1 AN 318 W 39
A G AR W AN SH o= o
I R ?

(A) <

(B) S

(C) i&eh

(D) STFREt

14
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28. In a code language if JKLM is coded | 28. T&l Hehfaek 9@ SR JKLM ¥ €9
as OSVX, then how DEFG will be OSVX 319 R. ™ = 9md DEFG
coded in the same language ? o TUW HE AHA ?

(A) ILNQ (A) ILNQ
(B) JLNP (B) JLNP
(C) KMOR (C) KMOR
(D) IMPR (D) IMPR

29. In a code language if DAC means | 29. Ul Hishfaess 9m0d S DAC =1 Hehdieh
635, then what will be the code for 635 3191 Bal, W FEG = Hehdish &
FEG ? A ?

(A) 879 (A) 879
(B) 678 (B) 678
(C) 587 (C) 587
(D) 897 (D) 897

30. While facing south, Virat walks 15 | 30. <f&Uhe die &&d A 15 T2 AT
meters and then turns to his right o7 |1 O o] Sea e a3 10
and Wa].ks 10 meters. From there he l-nd{ ‘C“Q'k'ﬂ- (g,”..id{ ?—ﬁ \‘5\)'10|n|0hg deed 15
turns to his right and walks 15 et Tredl. A ) eEiES g 15 Hex
meters. Then he turns to his left and T, T @ FE v e e
walks 15 meters. Which direction is e e m Bpell siaTEr T
he facing now and how much away .
from the starting point ? .

A , 15
(A) East, 15 meters (&) qj K
(B) West, 25 meters (B) Sk, 25 WIS
(C) North, 15 meters (C) W, 15 HX
(D) South, 40 meters (D) =g, 40 HieX
15 [P.T.O.



Directions :

Question numbers 31 and 32 are based

on the following information :

Following is a table representing foreign

tourists visiting different places in India

in a certain year. (Figures are in lakhs).

Type | American | English | French | Other | Total
Place
Agra 6.5 3.8 3.5 1.2 15.0
Delhi 8.2 8.7 2.7 0.4 20.0
Chennai 3.7 3.3 2.4 0.6 10.0
Udaipur 2.8 1.3 1.5 0.4 6.0
Bangalore 3.0 1.2 1.3 0.5 6.0
Shrinagar 1.0 0.8 1.1 0.1 3.0
31. What is percentage of total number

32.

of tourists visiting Agra ?
(A) 33.33%
(B) 25.00%
(C) 16.67%
(D) 10.00%

Which type of tourists found
maximum at Delhi ?

(A) American
(B) English
(C) French
(D) Other

APR - 00124/1—A

3 A2 LI
U9 I 31 ATTUT 32 YT Hifecia
amrenia 3med
AT SIaeh auid fafaer femrolt 92t
QUITAT UYGYI GaTvTieR Wi e
AR faeiett 1T (3Tehe Trame
3TEA).
Yo | 3mfteRe | Efewr | W T | T
femmn
e 6.5 3.8 3.5 1.2 15.0
oot 8.2 8.7 2.7 04 20.0
=g 3.7 3.3 24 0.6 10.0
E=2rn 2.8 1.3 15 04 6.0
AR 3.0 1.2 1.3 0.5 6.0
PYEEny 1.0 0.8 1.1 0.1 3.0
31. SN VEUW 9T QU WO WEmne
ghear] faal ?
(A) 33.33%
(B) 25.00%
(C) 16.67%
(D) 10.00%
32. feceime Fiven e Fardt Haid S
Fgeear ?
(A) s
(B) sfiem
(C) W=
(D) TN

16



APR - 00124/1—A

Directions : AT
Question numbers 33 and 34 are based U9 shilich 33 3TTUT 34 %gél?'rmi%?ﬁm
on the following information : MR 3Med :
Following table gives itemwise WWWWW—
expenditure of construction of house. yaTor EIIIE;IGII T T A
Item Expenditure (%) et ikl (%)
Labour 25 : @:i' 25
Cement and Bricks 30 fafte snfor fae 30
Steel 15 SUCE 15
Timber and Glass 20 s amifor et 20
Miscellaneous 10 o 10
33. The information in the above table | 83. & WRUIHLA Hifed! ages Tersmen
is to be represented diagrammatically (Pie diagram) HEFAM SRS TR
using Pie diagram. What will be the H\{L‘TI T FHAHTHS STHI=] OIgiod‘JIGhogitll
angle of the sector representing item (Sector) ®1 Tt ofvmen @ ?
labour ?
(A) 50°
(A) 50°
(B) 30° (B) 30°
D) 25° D) 25°
34. What is the ratio of expenditure of | 34. T&He =i foar =1 FHeEmES Freie
the item cement and bricks to the T ST AYERTHIES! Hoied TR
total expenditure of construction of Sl TR T S ?
house ?
A 1:3
(A 1:3 (A)
B)1:4 B) 1:4
© 2:5 ) 2:5
(D) 3:10 (D) 3:10
17 [P.T.O.



35.

36.

The following (X, Y) points are
plotted on X-Y plane and the

adjacent points are joined by smooth

curve :
X Y
1 60
2 30
3 20
4 15
5 12

What will be the nature of curve ?
(A) Straight line

(B) Parabola

(C) Hyperbola

(D) Exponential curve

Identify the correct pair from the

following :

(A) Pxl — unit of focus of digital

cameras

(B) HDD - unit of high definition

of digital screens

(C) Kbps — unit of data transfer rate

(D) Ghz — unit of memory storage

on digital devices

35.

36.

APR - 00124/1—A

TEra (X, Y) foig X-Y udermer @ 9
g fog f1ae (smooth) ™ et ¢

X Y
1 60
2 30
3 20
4 15
5 12

I TehTd TWEY HIA A ?

(A) W T

(B) =& (Parabola)

(C) @ (Hyperbola)

(D) =ikt 9% (Exponential curve)
TeAedeh! HIO SISl IFg 3 ?

(A) Pxl - fefSea SHm= By A=
TFhh

(B) HDD - fefSea w==m=a ==

Tead (SfREE) T

(C) Kbps — fag1 (321) s 9=
Ueheh

oo~

(D) Ghz — fefsea Sytommeal ]

HISaUehi= Taheh
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37.

38.

>

When you access a site with ‘https
instead of ‘http’ in the address bar,
it primarily means :

(A) You are accessing a speedy

connection

(B) You are accessing a secure

communication

(C) You are accessing a single date

line transfer
(D) You are accessing a smartphone
friendly website

Which of the following shows the

correct chronological order of the

first launch of these internet based

facilities ?

(A) YouTube, Gmail, Instagram,
Wikipedia

(B) Wikipedia, YouTube, Gmail,

Instagram

(C) Gmail, Wikipedia, YouTube,

Instagram

(D) Wikipedia, Gmail, YouTube,

Instagram

37.

38.
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‘http’ st ‘https’ T30 SUST 78R
FSHARALY STHUNT Sedee Tl Siel

SOl dedl gl

(A) T AN SR S (S1€) T

STl

(B) T ed Tk Sie aTaa STl

(C) foreT B&aiair=n Tehe AT 9L STEal

(D) TEHAE FIEY dodke AT

STHAI

oo

seeadd Eela fef

2o HaT TageH

gE a8 A1 FeRtmer. wreftee]
HIVE THE FFE HIAIEH Seifaar ?

~ e~ o~

(A) gz, S, e, fafefiteen

1, Y2ga, SiHe, T

o o hr

(iR e, J2gd, T=<Um™

(D) faferfafean, sitHe, =, T2mm™
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39.

40.

41.

Which of the following has not been
appointed as a national coordinator
for SWAYAM to ensure the quality

of the course content ?

(A)

Indian Institute of Science

(IISe)

(B) National Institute of Open

Schooling (NIOS)
©)

Indian Institute of Management,
Bangalore (IIMB)

(D)

Consortium for Educational

Communication (CEC)

In the context of ‘Web 2.0’ digital

environment what does the

abbreviation UGC stand for ?

(A) University Grants Commission
(B) User Generated Content

(C) Unique Graphic Coding

(D) Universal Graphic Chip-set

When were Millennium Development
Goals (MDGs) adopted by the United

Nations ?
(A) 1990
(B) 1995
(C) 2000
(D) 2010

39.

40.

41.

APR - 00124/1—A

Hed (SWAYAM) STeATEshRAr=
AR = TTefterdeht
HIVET GEIE TR THTS U
fradt gmerelt TR ?

TR o e (ST
TS gaa foaemast e e
(TIFSITH)

ARATE STIRUTIT §E A&

(AT THS )

(D) ietforer TR geAm (HEET)

(A)

(B)

(&)

‘I 2.0 fefsea sged=a devld UGC
T IS o &Y @eleieh! hIordr
(SUsit) g <uifad ?

(A) FFeEe Jeq HiavH

(B) ISR ST e

(C) g TR whITeT

(D) FiFeedcl Aithen Ted-¥e

ial

g sl wedTss faerg 3fEse

(MDGs) &t &=iehRe! ?

(A) 1990

(B) 1995
(C) 2000

(D) 2010
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42. What is the target year for achieving | 42, wveq famm sfEse giem woamEmSt
the Sustainable Development Freife 9% o 2
Goals ?
(A) 2020
(A) 2020
(B) 2025
(B) 2025
C) 2030
(C) 2030 ©
(D) 2040 (D) 2040
43. Which of the following is the effect | 43. @CCTIeh! IV FHTRHE T LT
of photochemical smog ? gy 3me ?
(A) Headaches, eyes, nose and (A) SrhgEt, Tes, ATk, FT AT Seoslos
throat irritation
(B) X ST aaear™ faeR
(B) Gastrointestinal disorders
(C) #fusr fohR
(C) Renal disorders
(D) Bone disorders (D) &
44. What is the term for the process of | 44. WA GEASIEE GUTO FHI0ATA]
inoculating microbes into soil ? gfshdel 1d WU ?
(A) Bioventing A) Sfgs-friga
(B) Biostimulation (B) Siferh-3ws
(C) Bioaugmentation (C) qewsia STt o
(D) Biosparaging (D) Sifer fereswmn =
21 [P.T.O.



45.

46.

47.

Which component of a solar panel
is responsible for directly generating
electric current when exposed to
sunlight ?

(A) Inverter
(B) Semiconductor material
(C) Reflectors
(D) Batteries

Environmental Education is not just
awareness and knowledge, but it is
also development of ................ .

(A) Deeper knowledge
(B) Theoretic knowledge
(C) Proper attitude

(D) Proper concepts

Indian education system generally
is divided into following periods :

(A) Vedic period, Buddhist period,
Muslim period, British period,
Post-Independence period

(B) Hindu period, Buddhist period,
Jain period, Muslim period,

British period

(C) Vedic period, Ramayan period,
Mahabharat period, Jain period,
British period

(D) Upanishadic period, Puranas
period, Buddhist period, Muslim

period, Modern period

45.

46.

47.

APR - 00124/1—A

AU Hhid SR U qZerr=

SRITT Feek 92 faeyga gamg fmir v

SeeER THal ?

(A) eT@e faegd qaa a9
(B) srdwaTes® A

(C) ek

(D) fooill 5=

Tty fem ¥ wea Sl St 9

A TeR, T AHE =11 fomrae
sfida e

(A) wEre =

(B) ¥ I

(C) Frg eAfret

(D) I Heheo

qRATE a0 Faedel 9 : ened
IFT &l S

..............

(A) afsw HTes, g Fles, YRe Fiep,

fofesr e, WA 1D

(B) T&g e, A e, S T3, T
13, TsIfeel hres

(C) dfchr FT3, U Hles, HEIURA

o n

FB, S e, T HTes

(D) 3USE wles, G H1es, G e,

A *B, IMYTH Fs
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48. In correspondence education system | 48 uUIeEERgR a0 HEwdd @ned
the following things are included : et -y
(A) Only guiding instructions
(A) e ANGEIh AT
(B) Only solved answers through
letters (B) e Wrefaeiell 3w
(C) Guiding instructions and solved (C) HATTesfer o omfon wrefaeret Im
answers
(D) HTiEYie YT, Hrsferetedl 3T
(D) Guiding instructions, solved )
: YTETeR e
answers and occasional lectures
49. The First Open University was | 49. Ufsed Ho faemdicr=] 499 1969 7&
started in 1969 at ................. R e A TYMIA AT
(A) Chicago in America (A) Hfda ¥eprm
(B) Milton Kenis in England (B) TTeiene faeed &g
(C) Paris in France (C) whramdle uR"
(D) Delhi in India (D) Rt feeed
50. According to Muslim System of | 50. gfeem e wgdgaR ‘wewr’ ¥
Education, ‘Madarsa’ is supposed to | i iz ToeE W
be the centre of ................ .
(A) wafyer e
(A) Primary Education
B) HieAfgen o
(B) Secondary Education (B) i
(C) Higher Education (C) v=a fam
(D) Technical Education (D) it e
23 [P.T.O.
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ROUGH WORK
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